Milczek Beata

Maritime University, Gdynia, Poland

Examples of series-"m out of k" systems and their limit reliability functions

Keywords

reliability, large system, asymptotic approach, limit reliability function

Abstract

The paper is concerned with mathematical methods in asymptotic approach to systems reliability analysis. The complexity of the reliability investigation of large-scale systems is proposed to be approximately solved by assuming that the number of system components tends to infinity and finding the limit reliability function of the system. Some general results in the form of auxiliary theorems and examples of limit reliability functions of homogeneous and regular series-"m out of k" systems with exponential and Weibull reliability functions of system components are presented.

1. Introduction - Asymptotic approach to system reliability

In the reliability investigation of large-scale systems, the problem of the complexity of their reliability functions arises. This problem may be approximately solved by assuming that the number of system components tends to infinity and finding the limit reliability function of the system. This approach is well recognized for basic systems. Gnedenko [1] has solved it for series and parallel systems, whereas Smirnov [7] for "k out of n" systems. They both have found the classes of possible limit reliability functions of these systems. All current results on asymptotic approach to reliability of large systems with typical structures are partly given in [2] and [4]-[6] and completely presented in the monograph [3].

In the paper these two areas considered by Gnedenko and Smirnov are brought together and some new results of investigations are showed.

We assume that the lifetime distributions do not necessarily have to be concentrated on the interval $< 0, \infty$). Then, a reliability function does not have to satisfy the usually demanded condition

R(t) = 1 for $t \in (-\infty, 0)$.

It is a generalization of the usually used concept of a reliability function. This generalization is convenient in the theoretical considerations. At the same time, the achieved results for the generalized reliability functions, also hold for the usually used reliability function. From these agreement it follows that between a reliability function R(t) and a distribution function F(t) there exists an explicit correspondence given by

$$R(t) = 1 - F(t), t \in (-\infty, \infty).$$

According to the properties of a distribution function, a reliability function R(t) is non-increasing, right-continuous, $R(-\infty) = 1$ and $R(+\infty) = 0$.

We will deal with a reliability functions of the forms:

$$\Re^{(m)}(t) = 1 - \sum_{i=0}^{m-1} \exp[-V(t)] \frac{[V(t)]^i}{i!}, \qquad (1)$$

$$\widetilde{\mathfrak{R}}^{(\lambda)}(t) = 1 - \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{-L(t)} \exp[-\frac{x^2}{2}] dx , \qquad (2)$$

and

$$\overline{\mathfrak{R}}^{(\overline{m})}(t) = \sum_{i=0}^{\overline{m}} \exp[-\overline{V}(t)] \frac{[\overline{V}(t)]^{i}}{i!}, \qquad (3)$$

where $m \in N$, $\lambda \in (0,1)$ and $\overline{m} \in N$.

The Asymptotic approach to systems reliability is based on investigating limit distributions of a standardized random variable

$$(T-b_n)/a_n,$$

where T is the lifetime of the system and $a_n > 0$, $b_n \in (-\infty, \infty)$ are some suitably chosen numbers. And since

$$P(\frac{T-b_n}{a_n} > t) = P(T > a_n t + b_n) = \boldsymbol{R}_n (a_n t + b_n),$$

where Rn(t) is a reliability function of the system, then we assume the following definition.

Definition 1. A reliability function $\Re(t)$ is called the limit reliability function of the system if there exist normalising constants $a_n > 0$, $b_n \in (-\infty, \infty)$ such that

$$\lim_{n \to \infty} \mathbf{R}_n(a_n t + b_n) = \Re(t) \text{ for } t \in C_{\Re},$$

where C_{\Re} is the set of continuity points of \Re . Hence, for sufficiently large *n*, we get the following approximate formula approximate formula

$$\boldsymbol{R}_n(t) \cong \Re(t - b_n / a_n), \ t \in (-\infty, \infty).$$

2. Reliability of series-" m_n out of k_n " systems

Suppose that

$$E_{ii}, i = 1, 2, ..., k_n, j = 1, 2, ..., l_n, k_n, l_n \in N$$

are components of a system having reliability functions

$$R_{ii}(t) = P(T_{ii} > t), \ t \in (-\infty, \infty),$$

where T_{ij} are independent random variables representing the lifetimes of E_{ij} , having distribution functions

$$F_{ij}(t) = P(T_{ij} \le t), t \in (-\infty, \infty).$$

Definition 2. A system is called regular series-" m_n out of k_n " if its lifetime is given by

$$T = T_{(k_n - m_n + 1)}, \ 0 < m_n \le k_n,$$

where $T_{(k_n-m_n+1)}$ is the m_n -th maximal order statistics in a sample of random variables

$$T_i = \min_{1 \le j \le l_i} \{T_{ij}\}, \quad i = 1, 2, ..., k_n,$$

representing the lifetimes of series subsystems of the system.

The above definition means that a series-" m_n out of k_n " system is not failed if and only if at least m_n of its k_n series subsystems are not failed.

Definition 3. A regular series-" m_n out of k_n " system is called homogeneous if component lifetimes T_{ij} have an identical distribution function

$$F(t) = P(T_{ii} \le t), \ t \in (-\infty, \infty),$$

where $i = 1, 2, ..., k_n, j = 2, ..., l_n$,

i.e. if its components E_{ij} have the same reliability function

$$R(t) = 1 - F(t), \ t \in (-\infty, \infty).$$

The reliability function of the homogeneous regular series-" m_n out of k_n " system is given by

$$\begin{aligned} \boldsymbol{R}_{k_{n},l_{n}}^{(m_{n})}(t) &= \\ 1 - \sum_{i=0}^{m_{n}-1} \binom{k_{n}}{i} [\boldsymbol{R}^{l_{n}}(t)]^{i} [1 - \boldsymbol{R}^{l_{n}}(t)]^{k_{n}-i}, \end{aligned}$$
(4)

or by formula

$$\overline{\mathbf{R}}_{k_{n},l_{n}}^{(\overline{m}_{n})}(t) = \sum_{i=0}^{\overline{m}_{n}} \binom{k_{n}}{i} [1 - R^{l_{n}}(t)]^{i} [R^{l_{n}}(t)]^{k_{n}-i}, \quad (5)$$

where $t \in (-\infty, \infty)$, $\overline{m}_n = k_n - m_n$, k_n is the number of series subsystems of a system and l_n is the number of components in series subsystems.

3. Examples of series-" m_n out of k_n " systems and their limit reliability functions

It is important to notice, that the form of limit reliability function of homogeneous regular series—" m_n out of k_n " system depends not only on the reliability function of system components, but also on relation between m_n and the number k_n of series subsystems of the system and moreover between k_n and the number l_n of components in series subsystems of our system. The paper presents some spectacular solutions for the problem of possible limit reliability functions for homogeneous and regular series—" m_n out of k_n " systems with Weibull or exponential reliability function of the system components. The proofs of presented lemmas can be found in [2] and [5].

Agreement 1. We assume the following notation for any positive functions x(n) and y(n):

$$y(n) = o(x(n))$$
 means that $\lim_{n \to \infty} \frac{y(n)}{x(n)} = 0.$

If x(n) = o(1) and numbers a, α are such that $a \neq 0, \alpha \neq 0$ and $\alpha \neq 1$ then we may use following equations:

$$e^{\pm x(n)} = 1 \pm x(n) + o(x(n)), \qquad (6)$$

$$(1 + x(n))^{\alpha} = 1 + \alpha x(n) + o(x(n)), \qquad (7)$$

$$(a+x(n))^{\alpha} = a^{\alpha} + a^{\alpha-1}\alpha x(n) + o(x(n))$$
(8)

Lemma1. If

(i) $\mathbf{R}_{k_n,l_n}^{(m_n)}(t)$ is a reliability function of the regular homogeneous series–,, m_n out of k_n " system given by (4),

(ii)
$$\Re^{(m)}(t)$$
 a non-degenerate reliability

function given by (1),

(iii)
$$\lim_{n \to \infty} k_n = \infty$$
, $\lim_{n \to \infty} m_n = m = \text{const}$,
 $(\frac{m_n}{k_n} \to 0 \text{ przy } k_n \to \infty)$,

(iv) $a_n > 0$, $b_n \in (-\infty, \infty)$ are some functions.

Then the assertion

$$\lim_{n\to\infty} \boldsymbol{R}_{k_n,l_n}^{(m_n)}(a_nt+b_n) = \mathfrak{R}^{(m)}(t), t \in C_{\mathfrak{R}^{(m)}},$$

is equivalent to the assertion

$$\lim_{n\to\infty}k_n R^{l_n}(a_nt+b_n)=V(t), t\in C_V.$$

Proof. The proof may be found in [2] and [5].

Proposition 1. If components of the regular homogeneous regular series-" m_n out of k_n " system have exponential reliability functions

$$R(t) = \begin{cases} 1 & \text{for } t \le 0\\ (t+1)^{-c} & \text{for } t > 0, c > 0, \end{cases}$$

and moreover if

(i)
$$\lim_{n \to \infty} m_n = \text{const}, \lim_{n \to \infty} k_n = \infty, l_n = c$$
,

$$\frac{1}{2}$$

(ii)
$$a_n = k_n^{\overline{c^2}}, b_n = -1,$$

then limit reliability functions of the system is

$$\mathfrak{R}_{1}^{(m)}(t) = \begin{cases} 1 & \text{for } t < 0, \\ 1 - \sum_{i=0}^{m-1} \exp(-t^{-c^{2}}) \frac{t^{-ic^{2}}}{i!} & \text{for } t \ge 0. \end{cases}$$

Justification: According to *Lemma 1* it is enough to show that

$$\lim_{n \to \infty} k_n R^{l_n} (a_n t + b_n) = V_1(t), \ t \in C_{V_1},$$
(9)

where

$$V_1(t) = \begin{cases} \infty, & t < 0 \\ t^{-c^2}, & t > 0, \alpha > 0. \end{cases}$$

Since from (i) and (ii)

$$a_n t + b_n = k_n^{\frac{1}{c^2}} t - 1,$$

we get for n large enough

$$a_n t + b_n < 0$$
 for $t \le 0$

and

$$a_n t + b_n > 0$$
 for $t > 0$.

Therefore

$$R(a_n t + b_n) = \begin{cases} 1 & \text{for } t \le 0, \\ (a_n t + b_n + 1)^{-c} & \text{for } t > 0, c > 0. \end{cases}$$

According (i) and (ii) we get

$$k_n R^{l_n} (a_n t + b_n) = \begin{cases} k_n & \text{for } t \le 0, \\ t^{-c^2} & \text{for } t > 0, c > 0, \end{cases}$$

what according (i) means, that (9) holds.

Proposition 2. If components of the regular homogeneous regular series-" m_n out of k_n " system have Weibull reliability functions

$$R(t) = \begin{cases} 1, & \text{for } t < 0, \\ \exp[-\beta t^{\alpha}], & \text{for } t \ge 0, \, \alpha > 0, \, \beta > 0, \end{cases}$$

and moreover if

(i)
$$\lim_{n \to \infty} k_n = \infty$$
, $\lim_{n \to \infty} m_n = m = \text{const}$,

(ii)
$$a_n = \frac{b_n}{\alpha \log k_n}, \ b_n = \left(\begin{array}{c} \frac{\log k_n}{\beta l_n} \end{array}\right)^{\frac{1}{\alpha}},$$

then limit reliability functions of the system is

$$\Re_3^{(m)}(t) = 1 - \sum_{i=0}^{m-1} \exp[-e^{-t}] \frac{e^{-it}}{i!} \text{ for } t \in (-\infty, \infty).$$

Justification: By Lemma 1 it is sufficient to show that

$$\lim_{n\to\infty}k_n R^{l_n}(a_nt+b_n)=e^{-t} \text{ for } t\in(-\infty,\infty).$$

According to (i) and (ii), for *n* large enough, we get

$$a_n t + b_n = b_n (\frac{t}{\alpha \log k_n} + 1) > 0 \text{ for } t \in (-\infty, \infty)$$

Hence for any $t \in (-\infty, \infty)$

$$R(a_n t + b_n) =$$

$$= \exp[-\beta(a_n t + b_n)^{\alpha}] =$$

$$= \exp[-\beta(b_n(\frac{t}{\alpha \log k_n} + 1))^{\alpha}] =$$

$$= \exp[-\frac{\log k_n}{l_n}(\frac{t}{\alpha \log k_n} + 1)^{\alpha}].$$

Using (7) for $\left(\frac{t}{\alpha \log k_n} + 1\right)^{\alpha}$ we get for $t \in (-\infty, \infty)$

$$R(a_{n}t + b_{n}) = \exp[-\frac{\log k_{n}}{l_{n}} - \frac{t}{l_{n}} - o(\frac{1}{l_{n}})]$$

Thus, for $t \in (-\infty, \infty)$

$$\lim_{n \to \infty} k_n R^{l_n} (a_n t + b_n) =$$
$$= \lim_{n \to \infty} k_n \exp[-\log k_n - t - o(1)] =$$
$$= \lim_{n \to \infty} \exp[-t - o(1)] = e^{-t}.$$

Directly, from the above *Proposition*, it follows next result.

Proposition 3. If components of the homogeneous regular series-" m_n out of k_n " have exponential reliability functios:

$$R(t) = \begin{cases} 1 & \text{for } t < 0, \\ \exp[-\beta t] & \text{for } t \ge 0, \ \beta > 0, \end{cases}$$

and moreover if

(i)
$$\lim_{n \to \infty} k_n = \infty$$
, $\lim_{n \to \infty} m_n = m = \text{const}$,
(ii) $a_n = \frac{1}{n} = \frac{1}{n} \log k$

(ii)
$$a_n = \frac{1}{\beta l_n}, b_n = \frac{1}{\beta l_n} \log k_n$$
,

then limit reliability functions of the system is

$$\Re_3^{(m)}(t) = 1 - \sum_{i=0}^{m-1} \exp[-\exp(-t)] \frac{e^{-it}}{i!}$$

for $t \in (-\infty, \infty)$.

Lemma 2. If

- (i) $\mathbf{R}_{k_n,l_n}^{(m_n)}(t)$ is given by (4) a reliability function of the homogeneous regular series–,, m_n out of k_n " system,
- (ii) $\Re(t)$ is non-degenerate reliability function,
- (iii) $\lim_{n\to\infty} k_n = k, k > 0, \quad \lim_{n\to\infty} m_n = m, \ 0 < m \le k,$ $\lim_{n\to\infty} l_n = \infty,$
- (iv) $a_n > 0$, $b_n \in (-\infty, \infty)$ are some sequences

of constants,

then the assertion

$$\lim_{n\to\infty} \pmb{R}^{(m_n)}_{k_n,l_n}(a_nt+b_n) = \Re(t), \quad t\in C_{\Re} \ ,$$

is equivalent to the assertion

$$\lim_{n\to\infty} R^{l_n}(a_nt+b_n) = \mathfrak{R}_0(t), \quad t\in C_{\mathfrak{R}_0},$$

where \Re_0 in non-degenerate reliability function. Moreover for $t \in (-\infty, \infty)$.

$$\Re(t) = 1 - \sum_{i=0}^{m-1} \binom{k}{i} [\Re_0(t)]^i [1 - \Re_0(t)]^{k-i}.$$

Proof: The proof may be found in [5].

Proposition 4. If components of the regular homogeneous regular series-" m_n out of k_n " system have Weibull reliability functions

$$R(t) = \begin{cases} 1, & t < 0, \\ \exp[-\beta t^{\alpha}], & t \ge 0, \, \alpha > 0, \, \beta > 0, \end{cases}$$

moreover if $\lim_{n\to\infty} m_n = m$ and pairs (k_n, l_n) and (a_n, b_n) fulfill conditions:

(i)
$$\lim_{n \to \infty} k_n = k, k > 0, \quad \lim_{n \to \infty} l_n = \infty_n,$$

(ii) $a_n = \left(\beta l_n\right)^{\frac{-1}{\alpha}}, \quad b_n = 0,$

then limit reliability functions of the system is

$$\Re_9^{(m)}(t) = 1 \text{ for } t < 0$$

and

$$\mathfrak{R}_{9}^{(m)}(t) = 1 - \sum_{i=0}^{m-1} \binom{k}{i} [\exp(-t^{\alpha})]^{i} [1 - \exp(-t^{\alpha})]^{k-i}$$

for $t \ge 0, \alpha > 0$.

Justification: According to *Lemma 2* it is sufficient to show that

$$\lim_{n \to \infty} R^{l_n} (a_n t + b_n) = \overline{\mathfrak{R}}_2(t), t \in C_{\overline{\mathfrak{R}}_2},$$
(10)

where

$$\overline{\mathfrak{R}}_2(t) = 1$$
 for $t < 0$

and

$$\overline{\mathfrak{R}}_2(t) = \exp[-t^{\alpha}] \text{ for } t \ge 0, \alpha > 0.$$

According to (ii) we have for $t \ge 0$,

$$a_n t + b_n < 0$$
 for $t < 0$ and $a_n t + b_n \ge 0$

and next

$$R(a_n t + b_n) = \begin{cases} 1 & \text{for } t < 0, \\ \exp[-t^{\alpha} l_n^{-1}] & \text{for } t \ge 0, \ \alpha > 0. \end{cases}$$

Thus, we have

$$R^{l_n}(a_nt + b_n) = 1$$
 for $t < 0$

and for $t \ge 0$ we get

$$R^{l_n}(a_nt + b_n) = \left(\exp[-t^{\alpha} l_n^{-1}]\right)^{l_n} = \exp[-t^{\alpha}].$$

From the above we conclude that (10) holds.

From *Proposition 4* the next result follows immediately.

Proposition 5. If components of the regular homogeneous regular series-" m_n out of k_n " have an exponential reliability functions

$$R(t) = \begin{cases} 1 & \text{for } t < 0, \\ \exp[-\beta t] & \text{for } t \ge 0, \ \beta > 0, \end{cases}$$

and moreover

$$\lim_{n\to\infty}m_n=m$$

and the pairs (k_n, l_n) and (a_n, b_n) fulfill the conditions:

(i)
$$\lim_{n \to \infty} k_n = k, \ k > 0, \ \lim_{n \to \infty} l_n = \infty,$$

(ii) $a_n = \frac{1}{\beta l_n}, \ b_n = 0,$

then limit reliability functions of the system is

$$\begin{aligned} &\Re_{9}^{(m)}(t) = \\ & \begin{cases} 1 & \text{for } t < 0, \\ 1 - \sum_{i=0}^{m-1} \binom{k}{i} [\exp(-t)]^{i} [1 - \exp(-t)]^{k-i} & \text{for } t \ge 0. \end{cases} \end{aligned}$$

Lemma 3. If

(i) $\overline{\mathbf{R}}_{k_n,l_n}^{(\overline{m}_n)}(t)$ is a reliability function of the homogeneous regular series–, m_n out of k_n " system given by (5),

(ii) $\overline{\mathfrak{R}}^{(\overline{m})}(t)$ is a non-degenerate reliability function given by (3),

(iii)
$$n \to \infty$$
, $k_n \to \infty$, $\frac{m_n}{k_n} \to 1$,
 $\overline{m}_n = k_n - m_n$, $\overline{m}_n \to \overline{m} = \text{const}$,
(iv) $a_n > 0$, $b_n \in (-\infty, \infty)$ are some functions,

then the assertion

$$\lim_{n\to\infty}\overline{\boldsymbol{R}}_{k_n,l_n}^{(\overline{m}_n)}(a_nt+b_n)=\overline{\mathfrak{R}}^{(\overline{m})}(t), t\in C_{\overline{\mathfrak{R}}^{(\overline{m})}},$$

is equivalent to the assertion

$$\lim_{n\to\infty}k_nl_nF(a_nt+b_n)=\overline{V}(t), t\in C_{\overline{V}}.$$

Proof. The proof may be found in [5].

Proposition 6. If components of the regular homogeneous series-" m_n out of k_n " system have Weibull reliability functions

$$R(t) = \begin{cases} 1 & \text{for } t < 0\\ \exp[-\beta t^{\alpha}] & \text{for } t \ge 0, \, \alpha > 0, \, \beta > 0, \end{cases}$$

and moreover if

(i) $\lim_{n \to \infty} k_n = \infty$, $\lim_{n \to \infty} (k_n - m_n) = \overline{m} = \text{const}$

(ii)
$$a_n = (\beta l_n k_n)^{\frac{-1}{\alpha}}, b_n = 0$$
,

then the limit reliability functions of the system is

$$\overline{\mathfrak{R}}_{2}^{(\overline{m})}(t) = \begin{cases} 1 & \text{for } t < 0, \\ \sum_{i=0}^{\overline{m}} \exp[-t^{\alpha}] \frac{(t^{\alpha})^{i}}{i!} & \text{for } t \ge 0, \alpha > 0. \end{cases}$$

Justification: According to Lemma 3 it is enough to show that

$$\lim_{n\to\infty}k_nl_nF(a_nt+b_n)=\overline{V}_2(t), t\in C_{\overline{V}_2},$$

where

$$\overline{V}_2(t) = \begin{cases} 0 & \text{for} \quad t < 0, \\ t^{\alpha} & \text{for} \quad t > 0, \alpha > 0. \end{cases}$$

According to (ii)

$$a_n t + b_n = (\beta l_n k_n)^{\frac{-1}{\alpha}} t.$$

Therefore

$$a_n t + b_n < 0$$
 for $t < 0$

and

 $a_n t + b_n \ge 0$ for $t \ge 0$.

Because for t < 0

$$F(a_n t + b_n) = 1 - R(a_n t + b_n) = 0,$$

thus, for t < 0, we get

$$\lim_{n\to\infty}k_nl_nF(a_nt+b_n)=0.$$

However for any $t \ge 0$

$$F(a_n t + b_n) = 1 - R(a_n t + b_n) =$$
$$= 1 - \exp[-\beta (a_n t)^{\alpha}]$$

$$= 1 - \exp[-\beta((\beta l_n k_n)^{-\alpha^{-1}} t)^{\alpha}] =$$
$$= 1 - \exp[-(l_n k_n)^{-1} t^{\alpha}].$$

From the above for any $t \ge 0$, we get

$$\lim_{n \to \infty} k_n l_n F(a_n t + b_n) = \lim_{n \to \infty} k_n l_n \left(1 - \exp\left[-\frac{t^{\alpha}}{k_n l_n}\right] \right).$$

Using (i) and (6), for $t \ge 0$, the above equation we can write as

$$\lim_{n \to \infty} k_n l_n F(a_n t + b_n) =$$
$$= \lim_{n \to \infty} k_n l_n \left(1 - 1 + \frac{t^{\alpha}}{k_n l_n} - o(\frac{t^{\alpha}}{k_n l_n}) \right) = t^{\alpha}.$$

From the above results the next proposition follows obviously.

Proposition 7. If components of the regular homogeneous regular series—" m_n out of k_n " have exponential reliability functions

$$R(t) = \begin{cases} 1 & \text{for } t < 0, \\ \exp[-\beta t] & \text{for } t \ge 0, \beta > 0, \end{cases}$$

and moreover if

(i)
$$\lim_{n \to \infty} k_n = \infty$$
, $\lim_{n \to \infty} (k_n - m_n) = \overline{m} = \text{const}$,
(ii) $a_n = \frac{1}{\beta l_n k_n}, b_n = 0$,

then limit reliability functions of the system is

$$\overline{\mathfrak{R}}_{2}^{(\overline{m})}(t) = \begin{cases} 1 & \text{for } t < 0, \\ \sum_{i=0}^{\overline{m}} \exp[-t] \frac{t^{i}}{i!} & \text{for } t \ge 0. \end{cases}$$

Lemma 4. If

(i)
$$\boldsymbol{R}_{k_n,l_n}^{(m_n)}(t)$$
, $t \in (-\infty,\infty)$, is a reliability function
of the homogeneous regular series-,, m_n out of k_n ?

given by (4),

(ii) $\widetilde{\mathfrak{R}}^{(\lambda)}(t)$, is a non-degenerate reliability

function given by (2),

(iii)
$$n \to \infty, k_n \to \infty,$$

$$\frac{m_n}{k_n} = \lambda + o(\frac{1}{\sqrt{k_n}}), \ 0 < \lambda < 1,$$

(iv) $a_n > 0, b_n \in (-\infty, \infty)$ are some functions,

then the assertion

$$\lim_{n\to\infty} \boldsymbol{R}^{(m_n)}_{k_n,l_n}(a_nt+b_n) = \widetilde{\mathfrak{R}}^{(\lambda)}(t) \text{ for } t \in C_{\widetilde{\mathfrak{R}}^{(\lambda)}},$$

is equivalent to the assertion

$$\lim_{n \to \infty} \frac{\sqrt{k_n + 1} [R^{l_n} (a_n t + b_n) - \lambda]}{\sqrt{\lambda (1 - \lambda)}} = L(t)$$

for $t \in C_L$.

Proof. The proof may be found in [5].

Proposition 8. If components of the regular homogeneous regular series—" m_n out of k_n " system have Weibull reliability functions:

$$R(t) = \begin{cases} 1, & t < 0, \\ \exp[-\beta t^{\alpha}], & t \ge 0, \, \alpha > 0, \, \beta > 0, \end{cases}$$

and moreover

(i)
$$\lim_{n \to \infty} k_n = \infty$$
, $\frac{m_n}{k_n} = \lambda + o(\frac{1}{\sqrt{k_n}})$,
 $0 < \lambda < 1$,
(ii) $a_n = \frac{\sqrt{1-\lambda}}{\alpha(\beta l_n)^{\frac{1}{\alpha}}\sqrt{\lambda k_n}(-\log \lambda)^{\frac{\alpha-1}{\alpha}}}$,
 $b_n = (\frac{-\log \lambda}{\beta l_n})^{\frac{1}{\alpha}}$,

then limit reliability functions of the system is

$$\widetilde{\mathfrak{R}}_{7}^{(\lambda)}(t) = 1 - \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{t} e^{-\frac{x^{2}}{2}} dx \quad \text{for } t \in (-\infty, \infty) \,.$$

Justification: According to *Lemma 4* it is enough to show that for $t \in (-\infty, \infty)$

$$\lim_{n \to \infty} \frac{\sqrt{k_n + 1} [R^{l_n} (a_n t + b_n) - \lambda]}{\sqrt{\lambda(1 - \lambda)}} = -t.$$

From (i) and (ii), because for *n* large enough and for $t \in (-\infty, \infty)$, we have

 $a_n t + b_n =$

$$=\frac{1}{\left(\beta l_{n}\right)^{\frac{1}{\alpha}}}\left(\frac{\sqrt{1-\lambda}}{\alpha\sqrt{\lambda k_{n}}\left(-\log\lambda\right)^{\frac{\alpha-1}{\alpha}}}t+\left(-\log\lambda\right)^{\frac{1}{\alpha}}\right)>0$$

it follows that

$$\begin{aligned} R(a_n t + b_n) &= \\ \exp[-\beta(\frac{1}{(\beta l_n)^{\frac{1}{\alpha}}} (\frac{\sqrt{1-\lambda}}{\alpha\sqrt{\lambda k_n}(-\log\lambda)^{\frac{\alpha-1}{\alpha}}} t + (-\log\lambda)^{\frac{1}{\alpha}}))^{\alpha}] \end{aligned}$$

and next for large *n* and $t \in (-\infty, \infty)$ we get

$$\lim_{n \to \infty} \frac{\sqrt{k_n + 1} [R^{l_n} (a_n t + b_n) - \lambda]}{\sqrt{\lambda (1 - \lambda)}} = \lim_{n \to \infty}$$
(11)

$$\frac{\sqrt{k_n+1}\left[\exp\left[-\left(\frac{\sqrt{1-\lambda}}{\alpha\sqrt{\lambda k_n}\left(-\log\lambda\right)^{\frac{\alpha-1}{\alpha}}}t+\left(-\log\lambda\right)^{\frac{1}{\alpha}}\right)^{\alpha}\right]-\lambda\right]}{\sqrt{\lambda(1-\lambda)}}$$

Using (8) we get

$$\left(\frac{\sqrt{1-\lambda}}{\alpha\sqrt{\lambda k_n}\left(-\log\lambda\right)^{\frac{\alpha-1}{\alpha}}}t + \left(-\log\lambda\right)^{\frac{1}{\alpha}}\right)^{\alpha} =$$

$$= \left(\left(-\log\lambda\right)^{\frac{1}{\alpha}}\right)^{\alpha} +$$

$$+ \alpha\left(-\log\lambda\right)^{\frac{\alpha-1}{\alpha}}\frac{\sqrt{1-\lambda}}{\alpha\sqrt{\lambda k_n}\left(-\log\lambda\right)^{\frac{\alpha-1}{\alpha}}}t +$$

$$+ o\left(\frac{\sqrt{1-\lambda}}{\alpha\sqrt{\lambda k_n}\left(-\log\lambda\right)^{\frac{\alpha-1}{\alpha}}}t\right) =$$

$$= -\log\lambda + \frac{\sqrt{1-\lambda}}{\sqrt{\lambda k_n}}t + o\left(\frac{1}{\sqrt{k_n}}\right).$$

Continuing transformations (11) we get

$$\begin{split} &\frac{\sqrt{k_n+1} [\exp[-(-\log\lambda + \frac{\sqrt{1-\lambda}}{\sqrt{\lambda k_n}}t + o(\frac{1}{\sqrt{k_n}}))] - \lambda]}{\sqrt{\lambda(1-\lambda)}} = \\ &= \lim_{n \to \infty} \frac{\sqrt{k_n+1} [R^{l_n}(a_nt+b_n) - \lambda]}{\sqrt{\lambda(1-\lambda)}} = \\ &= \lim_{n \to \infty} \frac{\sqrt{k_n+1} [\lambda(\exp[-\frac{\sqrt{1-\lambda}}{\sqrt{\lambda k_n}}t + o(\frac{1}{\sqrt{k_n}})] - 1)]}{\sqrt{\lambda(1-\lambda)}}. \end{split}$$

From the above, using (6), we get for $t \in (-\infty, \infty)$

$$\begin{split} &\lim_{n \to \infty} \frac{\sqrt{k_n + 1} [R^{l_n} (a_n t + b_n) - \lambda]}{\sqrt{\lambda(1 - \lambda)}} = \\ &= \lim_{n \to \infty} \frac{\sqrt{k_n + 1} [\lambda (1 - \frac{\sqrt{1 - \lambda}}{\sqrt{\lambda k_n}} t + o(\frac{1}{\sqrt{k_n}}) - 1)]}{\sqrt{\lambda(1 - \lambda)}} = \\ &= \lim_{n \to \infty} \frac{\sqrt{k_n + 1} [-\frac{\sqrt{\lambda(1 - \lambda)}}{\sqrt{k_n}} t + o(\frac{1}{\sqrt{k_n}})]}{\sqrt{\lambda(1 - \lambda)}} = -t \,. \end{split}$$

Next Proposition follows from the above immediately.

Proposition 9. If components of the regular homogeneous regular series—" m_n out of k_n " have exponential reliability function:

$$R(t) = \begin{cases} 1 & \text{for } t < 0, \\ \exp[-\beta t] & \text{for } t \ge 0, \ \beta > 0 \end{cases}$$

and moreover

(i)
$$\lim_{n \to \infty} k_n = \infty$$
, $\frac{m_n}{k_n} = \lambda + o(\frac{1}{\sqrt{k_n}})$, $0 < \lambda < 1$,
(ii) $a_n = \frac{\sqrt{1-\lambda}}{\beta l_n \sqrt{\lambda k_n}}$, $b_n = \frac{-\log \lambda}{\beta l_n}$,

then limit reliability functions of the system is

$$\widetilde{\mathfrak{R}}_{7}^{(\lambda)}(t) = 1 - \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{t} e^{-\frac{x^{2}}{2}} dx \quad \text{for } t \in (-\infty, \infty) .$$

4. Conclusion

The paper proposes an approach to the solution of practically very important problem of determining the reliability functions of large scale systems by assuming that the number of system component tends to infinity and finding the system limit reliability function. This way, for sufficiently large systems their exact reliability functions may be approximated by their limit reliability functions. This approach gives practically important in everyday usage tool for reliability evaluation of large systems that can be met o instance in piping transportation systems considered in [8], where application of the proposed method is illustrated in the reliability evaluation of the port oil pipeline transportation system.

Acknowledgements

The paper describes the work in the Poland-Singapore Joint Research Project titled "Safety and Reliability of Complex Industrial Systems and Processes" supported by grants from the Poland's Ministry of Science and Higher Education (MSHE grant No. 63/N-Singapore/2007/0) and the Agency for Science, Technology and Research of Singapore (A*STAR SERC grant No. 072 1340050).

References

- [1] Gnedenko, B. V. (1943). Sur la Distribution Limité du Terme Maximum d'une Serie Aleatoire. *Ann. of Math.* 44, 432-453.
- [2] Kolowrocki, K. (1993). On a Class of Limit Reliability Functions for Series-Parallel and Parallel-Series Systems. Monograph. Maritime University Press, Gdynia.
- [3] Kolowrocki, K. (2004). Reliability of Large Systems. Elsevier, Amsterdam - Boston -Heidelberg - London - New York - Oxford -Paris - San Diego - San Francisco - Singapore -Sydney - Tokyo.
- [4] Milczek B. (2002). On The Class of Limit Reliability Functions of Homogeneous Series-"k-out-of-n" Systems. Applied Mathematics and Computation 137, 161-174.
- [5] Milczek, B. (2004). *Limit Reliability Functions* of Series-"k-out-of-n" Systems. Ph.D. thesis, Department of Mathematics, Maritime University, Gdynia.
- [6] Milczek, B. (2004). Limit Reliability Functions of Some Series-"k out of n" Systems. International Journal Of Materials & Structural Reliability, Vol. 2 No 1, 1-11.
- [7] Smirnov, N.V. (1949). Predelnye Zakony Raspredelenya Dla Chlenov Varyatsyonnogo Ryada. Trudy Matem. Inst. im. V. A. Stelkova.
- [8] Soszyńska, J. (2006). Reliability evaluation of a port oil transportation system in variable operation conditions. *International Journal of Pressure Vessels and Piping*, Vol. 83, Issue 4, 304-310.